ED-101

M.Com. Ist Semester
Examination, March-April 2021

Paper - 1

Managerial Economics

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16

A 9t Tl F S AT w gl F s
hE

Note : Answer all questions. All questions carry equal
marks.

T&e / Unit-1

1. TOORE AV UE YoYUkt IduE H
de HIWT| Yeeehig A JE R ST
yEedl ¥ fFe geR gwfed ® 2

Differentiate between Traditional Economics
and Managerial Economics. How Managerial
Economics is related to other branches of
knowledge ?

374l / OR
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(2)
T AEIs ®H & I FaRd |

Explain the objectives of a business firm.

1S / Unit-IT

2. Ffsolicl STEYRON Ud HHN STaUROm |
IW T? HI UH SUHA Figua fas
g o o T a9y H\Edar © 2

What is the difference between incremental
concept and marginal concept ? When can the
decision by an entrepreneur be considered

valid according to incremental principle ?
34T / OR

frefafag w dfea fewfar fafe

(a) T7a Hed w1 fagra

(b) AT «rd Togr

Write short notes on the following :
(a) Principle of time perspective

(b) Opportunity cost principle

TS / Unit-111

3. W & HHd AE, A™ "G TE YA
W Rl &Y W HHIET| Sk o gy
S O e &I
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(3)

Briefly explain the price elasticity,. Income
elasticity and substitution elasticity of demand.
Also explain relationship among them.

374l / OR

I & A= 9 T IRE B2 AW R A
= fafi= gfoel =t =ren wifsu

What do you mean by elasticity of demand ?
Explain the various degrees of elasticity of
demand.

TH1 / Unit-IV
4. Y@ faveioor & W™l 9 Tk SYHiE

% Gqed i faa= IS

Discuss consumers equilibrium with the help
of utility analysis.

374l / OR

AN YEAE W R W™ 2 U I
fohrs awqall, W@ oGl w1 " &l
HH-HA 9 Heh FHUia & © 2 e

HIFSTT |

What is the meaning of demand forecasting ?
What are the various factors influence the
demand for consumer durables, non-durables ?
Explain.
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(4)
313 / Unit-V

5. ‘YoM % wiawa’ ¥ @ wEEd €2 YW %
gfawd & fAule dc sdaEu)
What do you understand by ‘Returns to

Scale’. Mention the determinants of Returns
to Scale.

374l / OR

“Ioafa g W saa wfa | g ar )
g, dfch I8 YAw offde fear & fau
qoh W Afeda ®1 TR #ifSu

“The law of decreasing returns is not only
applicable to agriculture but is a logical
necessity for every economic activity.”
Explain.

DRG 28 (4) 1,320



ED-102

M.Com. 1st Semester
Examination, March-April 2021

Paper - II

Advanced Accounting

Time : Three Hours] [Maximum Marks : 80
:qft gl % S JGW 9t el R ostw
peic i
Note : Answer all questions. All questions carry equal
marks.
TS / Unit-I

1. | fdo g% T 10 & 20000 39 & o
72 Jfd A9 &1 HIH W EeT T S
L U Tk Ufgerw frifaa foram ) siw wfy
TH YFR <F off - STHed W T2, AW W
5 Wgam & o wfgqd 99w I W
F3 qUr fgd™ A=A 9 21 30000 3N R
e 9 YT I 24000 W R FHE
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(2)

U H 3eed foham T d9r 6000 TN W
g U H g ®Y W e feam e
MeeA U ok WY S 3y AT 9w g3
IHH AW T <F AT H gAN fman
X TS89 400 3791 otefed fvd ™ 9, @A
T gH # T9Rd W IR a8 H ITH
YU A H A HE DI FTHRAT T
IHF ST K BT W forem WA Y S 600
SiEl AT o SEl AN o FTaM T H
FEFA @ AR fgd@ A % 9’ Sk off
9 o R fae ) e R A ste |
¥ 800 3w T9 Ufd oo W yoled & €9 H
Z & 93 MUl qA: frifga ol § X &
qqul Y wifHa 91 koAt Rt gEen o

AEd st glarear g

Neelam Ltd. issued a prospectus inviting
applications for 20000 shares of ¥ 10 each at
a premium of ¥ 2 per share payable as
follows : on application ¥ 2, on allotment ¥ 5
including premium, on first call ¥ 3, on

second call ¥ 2. Application were received for
30000 shares and allotment was made pro-
rata to the applications of 24000 shares.
Money paid on 6000 shares was fully paid
back. Money was paid on application was

DRG_84 (16) (Continued)



(3)

employed on account of sum due on
allotment. X to whom 400 shares were
allotted, failed to pay the allotment money and
on his subsequent failure to pay the first call,
his shares were forfeited. Y the holder of 600
shares failed to pay the two calls, his shares
were forfeited after the second call. If the
shares, forfeited, 800 shares were sold to Z
credited as fully paid for ¥ 9 per share, The

whole of X’s shares being included in the
shares re-issued. Pass the necessary journal

entries in the books of company.
34T / OR

O o GREdd W AT 9 "Hed © 2 Ul
gRadd &t fafei &1 o sife |

What is meant by conversion of debentures ?

Describe the methods of such a conversion.

TH18 / Unit-11
2. fodita faaxor w1 s ad €2 fo<im faemo
% HAYd Y hl TR RN

What is the meaning of financial statement ?
Discuss the basic objects of financial
statement.

374l / OR
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(4)

31 "™ 2018 @I Ienm @R fhew fafacs
#I g d e afmar o -
IEELY| T

ER| 5,00,903
ICER] 9,83,947
oo == 3,59,000
YRITh @Y 1,72,058
T = 26,814
T 2 31,078
AT Yook 1,800
AN e 15,000
TS (GHTR{Td) 8544
st gSt (Afosa wd fffaa)

60000 3 T 10 TIH 6,00,000
= 99 2,50,000
A=A A 6,526
MRS < 36,858
NCE| 1,00,000
NG| 2,00,000
Hrewme! 15,000
TR 5,000
MRS IIH 1,57,380
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(3)

IEELY| T
fafram 2,88,950
Tehg AW 67,240
-7 k1 foexo
1 SRR 2017 ol 3faeh 16,848
WF JEeve He 37,500

31 AME 2018 I 9HTW &M dlefl 6 HE i
sty & fou Suds oAl iR =
oA ok AER W wen waR foew fafies
F1 fagr IR any-gif foero fauifa &0 A

ERIEUE

(i) 31 99 2018 &1 g IR e F Tefaan
1 HARA T 1,48,680 foham TmI|

(i) $10,000 Y¥a9 W TH & faQ, ¥ 6,500
Tey AfYekal & HHRYE TI T 1,500
yEete iy U fIeE & fau gEum
HIFSTT |

(iii) TaFEr W sifsa =T 72,750 |

(iv) 2,500 H1 TH HUAN HI &fagfd
gal Suel g faere = feufa # ®

e iR faew fafies =1 fagr o «nw-

g foamor oM 9T 1Y AT A

oH Thd B
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(6)

The undermentioned balances appeared in the
books of Sheela Flour Mills Ltd. as on 31st
March, 2018 :

Particulars T
Purchases 5,00,903
Sales 9,83,947
Manufacturing expenses 3,59,000
Opening Stock 1,72,058
Establishment expenses 26,814
General charges 31,078
Directors fees 1,800
Interim dividend 15,000
Interest (credited) 8,544

Share Capital (Authorised and
Issued) 60000 shares of ¥ 10 each 6,00,000

General Reserve 2,50,000
Unclaimed dividends 6,526
Trade payables 36,858
Building 1,00,000
Machinery 2,00,000
Motor vehicles 15,000
Furniture 5,000
Trade receivables 1,57,380

DRG_84 (16) (Continued)



(7)

Particulars T
Investments 2,88,950
Cash balances 67,240
Profit and Loss statements
Surplus on Ist October, 2017 16,848
Staff Provident Fund 37,500

From these balances and the folowing
information, prepare for the half year ending
at 31st March, 2018, the company’s Balance
Sheet and its statement of Profit and Loss is
prescribed form :

(/) The stocks of wheat and flour on 31st

March, 2018 were valued at ¥ 1,48,680.

(if) Provide ¥ 10,000 for depreciation of
building, ¥ 6,500 for managing agent’s

commission and 1,500 for the
company’s contribution to the provident
fund.

(iii) Interest accrued on investments amount
to ¥ 2,750.

(iv) A claim of 2,500 for workmen’s
compensation is being disputed by the
company.

You may make the necessary assumptions for
preparing the Balance Sheet and statement of
Profit and Loss of Sheela Flour Mills Ltd.

DRG 84 (16) (Turn Over)



(8)
TS / Unit-111

3. @i HF®-14 & ATER ‘faad &t gHfd
T ThIHOT' qAT ‘v ki Yohid kT TehihoT’
T gfparsli @1 foawqa foa=mA ST

Explain in detail the procedures of
‘Amalgamation in the nature of Merger’ and
‘Amalgamation in the nature of Purchase’

according to Accounting Standard (AS) - 14.
37947/ OR

Haq falo o fau f=fafaa qAfwor s

Tihd hl TE

(@) T10-10 % 50000 39 <k SV
I 39 & e feifRd W g

(i)aﬁaﬁﬂﬁmﬁés%wés

SReR QUi Fohdl HIERO 33|

(ii)?qgfaamwai?ﬁés%q@%ﬁ
e 10% STTHAM 3w (Yaifeer
) e

(iii) T 60,000 & 8% g™ =oTa=
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(9)

(b) ¥50,000 % 8% UuH HUs frifia wd
sefed fha & qAT ITHRT ARSI IAH
g B g © |

() ©fd & &I ¥3,00,000 H FIH
£1,50,000 & fean T ®)

(d) EI9 Td "R R geI ¥ 1,00,000 9
IR ¥ 75,000 X e TEm ®

(¢) THYA TRl 1 HeI ¥ 1,75000 9
IR T 1,50,000 H feam ¥

ST HABN ok YR W HUHl hl TEHRI
¥ ofevgs oSt gfafedl w@ gost @
IR

The following schemes of reconstruction has
been approved for Preetam Ltd:

(a) The Shareholders to receive in lieu of
their present holding of 50000 shares of

T 10 each, the following :
(/) Fully paid ordinary shares equal to

2
gth of their holding.
(if) 10% Preference shares, fully paid to

1
the extent of gof the above new

ordinary shares.
(iii) ¥ 60,000, 8% Second Debentures.

DRG 84 (16) (Turn Over)



(10)

(b) An issue of ¥ 50,000, 8% first Debenture

were made and allotted, payment for the
same having been received in cash.

(c) The goodwill, which stood at ¥ 3,00,000

was written down to ¥ 1,50,000.

(d) The plant and machinery which stood at
T 1,00,000 was written down to ¥ 75,000.

(e) The freehold premises which stood at
T 1,75,000 was written down to
¥ 1,50,000.

Make the necessary journal entries and ledger
accounts in the books of the company on the
basis of above reconstructions.

Ta1e / Unit-IV

4., FEUN HUAI AT WEEHh HUAl h1 Tehichd
fagl oA 999 Aoyl steEr  gSiv
A FEER HEY H EAEEU|

Discuss, briefly the treatment of pre-
acquisition or capital profits, at the time of
preparation of a consolidated Balance Sheet

of holding and subsidiary company.

374l / OR
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(11)

1 9, 2018 ® X HEA T Y hud &
300000 THAT W Wl | 31 HMNE, 2019 I

<ifgea Twd d@ufaal o1 faenw =1 ®

gifoc wd Hufaai o1 foero

oo X&TAt | vyt
T T

IRl

YT 10 TIH 50,00,000 | 40,00,000

G99 10,00,000 | 25,00,000

Y-gIH  faaro 6,00,000 | 10,00,000

TSR 5,00,000 | 3,00,000

T fau= 3,00,000 | 2,00,000
74,00,000 | 80,00,000

gufat

It 3,00,000 | 12,00,000

NCE| 10,00,000 | 15,00,000

R0 5,00,000 | 26,00,000

Y Ut H

faf=T 300000 3791 | 50,00,000

R\ 6,00,000 | 27,00,000
74,00,000 | 80,00,000

DRG_84 (16)
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(12)

g9 % URY H Y SO H ey-gie foeR
U3 Td HEg W AT HEW: 3,00,000 3R
25,00,000 911 Y O H & 10,00,000
qoh ®Ed HT ®, W@hY & 6,00,000 9
T HTT ® qA1 10% = eTufafad
T OgFa fagr sARe iR et & fooguf
ff feemu)

On 1st July, 2018 X company purchased
300000 Equity shares of Y company. The
Balance Sheet are given below on 31st March,
2019 :

Details of Liabilities and Assets

Particulars X Company| ¥ Company
T T

Liabilities :

Share Capital
Share of ¥ 10 each | 50,00,000| 40,00,000

Reserve 10,00,000( 25,00,000
Statements of P&L 6,00,000| 10,00,000
Creditors 5,00,000 3,00,000
Bills Payable 3,00,000| 2,00,000

74,00,000( 80,00,000

DRG_84 (16)
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(13)

Particulars X Company| ¥ Company
g g

Assets :

Goodwill 3,00,000| 12,00,000

Buildings 10,00,000| 15,00,000

Stock 5,00,000( 26,00,000

Investments in

Y company

300000 shares 50,00,000 —

Cash 6,00,000| 27,00,000
74,00,000 | 80,00,000

At the beginning of the year the balance of
profit and General Reserve of Y company

were T 3,00,000 and ¥ 25,00,000 respectively.
Building is to be depreciated to ¥ 10,00,000;
stock is to be depreciated by ¥ 6,00,000 and
10% goodwill is to be written off of Y

company. Prepare the consolidated Balance
Sheet and show your workings.

Th13 / Unit-V
Teh G ! Wil & -8 FeE 8§ 2
€ FIAHI BT DG HH AT T 2 STH
qiRgfae o fauftor forg yer € 2

What are the sources of receipt for a
liquidator ? What order of payments is
adopted by him? How is his remuneration
determined ?

374l / OR

DRG_84 (16)
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(14)

1 SHad, 2018 1 faskt g fafiee w1 U
TAOE goT | Teares o1 dutadl & fasd W
3% duT AW H oA MW AWM W 2%
TiRgfe e F=Re 9 &o o 99w
gufaal a9 <1 1 A, 2018 I HUA T
Rafq 1 9&R ot .

7
Hfaal @t foshl T ke T 7,00,000
T =&Y 12,600
TER (TF A

Jaq T 8,400 Ifed) 95,200
7000, 6% JalfeehR 3791, Th

7 30 o1 (59 W T 99 &

YT ST §) 2,10,000
14000 THAT 373 Yedah T 10

& YAk W T 9 Iqifad 3R

UGS RICES 1,26,000
= 999 1,68,000
Y-8 @ 28,000

HUA o NS SAAfEEl kTR YElfURR
SRl § g9ar st & Uil YIaH A

DRG_84 (16) (Continued)



(15)

% e g A @ 5 A

o

1 PR T | Tearer o1 sifqw faeror @
IT |

Vicky Shoes Ltd. went into voluntary
liquidation on 1st January, 2018. The
liquidator is to be paid remuneration at 3%
on the amount realised on sale of assets and
2% on the amount distributed to share-
holders. The liquidator sold out all the assets
of the company. On 1st January, 2018
company’s position was as under :

54
Cash realised on sale of assets 7,00,000
Liquidation expenses 12,600
Creditors (including salary
for one month ¥ §8,400) 95,200
7000, 6% Preference Shares of
¥ 30 each (On which dividend

is in arrear for one year) 2,10,000
14000 Equity Shares of ¥ 10 each,

T 9 per share called and paid 1,26,000
General Reserve 1,68,000
Profit and Loss Alc 28,000

DRG 84 (16) (Turn Over)



(16)

Under Articles of Association of the company
Preference shareholders have a right to receive

3 of the surplus remaining after repaying the

Equity Share capital. Prepare liquidators Final
Statement of Account.

DRG_84 (16) 1,380



ED-103

M.Com. 1st Semester
Examination, March-April 2021

Paper - III

Income Tax Law and Accounts

Time : Three Hours] [Maximum Marks : 80
de gt gl & SR AW wf Tl Fosw
peic i
Note : Answer all questions. All questions carry equal
marks.
TS / Unit-I

1. UHl dielg ™ &t "Gl I GUIRT Sl Fd
3 H S SIS S
Explain such sixteen items which are not
mcluded in total income.

374l / OR

DRG_146 (12) (Turn Over)



(2)

(@) X T fagsit =mfes &1 @@ 1998 @
yfgad of@ # 105 fe7 & fow wRa
A ¥ w-fAuior Id 2019-20 &
fu 3wt framm frafa sare =fe
() X 9N A * Tl T, IR
(i) X 1939 & g1 H a1 gom o

X is a foreign citizen, since 1998, he
comes to India every year in the month
of April for 105 days. Find out the
residential status of X for the
Assessment Year 2019-20, if

(/) X is not a person of Indian origin, and

(if) X was born in Poona in 1939.

(b) THo T Jo THo W AANINEH TAYLH
1.5.2012 @ 9RA ATl I8 TAR
9 o el W R 1.5.2015 W
FTARY el TRETl 98 1.4.2016 I
IRd 999 3T 3R 1.12.2016 W
Fo ko T TATI 20.1.2019 hl I
qUE ¥Rd 9w feam Em

F-fAglor a9 2019-20 & faAw STt
famE  fafa sTaET |

DRG_146 (12) (Continued)



(3)

Mr. Maitra a citizen of UK came to
India for the first time on 1.5.2012. He
stayed here without any break for three
years and left for Bangladesh on
1.5.2015. He returned to India on
1.4.2016 and went back to the UK on
1.12.2016. He was posted back to India
on 20.1.2019.

Determine his residential status for the
Assessment Year 2019-20.

1S / Unit-IT

2. o &A@ 1 ®E, 2011 ¥ W@l H
T e fa e ¥ FEka ¥ oww
% 8,000 - 400 - 16,000 - 700 - 23,000 &
JTEE W ¥ dW IY W A dad
20% WHeWE wdl fooiar ® fSEd @ oemen
IHh  SAaHR Tl el faq  Sret
ST § 1 9% yEif gifague wue § et
Ia dAT MY HEME O™ HT 12%  SAVSH
Har & foad sEe e o sReR o
3VEH Al T TMaes W e o T
% fogae & fau s yifagwe wue ¥
740,000 & RO forar S99 ¥ 39 Taay
H 34,000 1 A AT daq H HIA
w0 TRl 39 A & WiHa 9 T

DRG_146 (12) (Turn Over)



(4)

fRe 4 gad geH ot gfawn faelt g8 ®
et sfaa feanm 744,000 =ifies
39 T 600 FfA® WAl WAl st 9AE
feu 7400 gfqare fafecsr v« 99 < 400
yfaae e T o @ R

I 1 faa=r, 2018 I TSR H
THGIHOT h &I H T 1,20,000 Y g3,
STO10 HE W TSR A WIAN HH A
F e % feml ¥ oesEr fo sifa
JI% g8 H a1 & faw 30 fea &
SAhIY hT YRR AT

Y TH HCl qA TH WEC H g
o e N YGE H 7150 Gique e
TR YTAE Bl €1 SH Th B B HI
ff e 4 s we S wEm
%T@ﬁ%|ﬁ:roaqﬁ?rﬁ3€raér
1L 1 T O = 3 L
g e fau a® &% w9
gfd ®F 9fd HE =TI T 600

fE

s
M w®
f <@ R
g
F-FuRe a6 2019-20 & fauw o s1fa
H HL I ddd hi TMUET HIGT qAT TS
qa difee fe aq7 gwafud HE & ST
e % W fod @ BT T

EE

DRG_146 (12) (Continued)



(3)

Mr. Anil is working in a Jute mill company
in Kolkata since 1st March, 2011. He is in
the grade pay of ¥ 8,000-400—- 16,000 —
700 — 23,000 plus a Dearness Allowance @
20% of his basic pay, half of which enters
into retirement benefits. He contributess 12%
of his salary and one-half Dearness
Allowance to recognised Provident Fund to
which his employer contributes an equal
amount. During the previous year, he took
a loan of ¥ 40,000 from his Provident Fund
for his daughter's marriage out of which he
repaid ¥ 4,000 during the year has been of
deduction from his salary.

He has been provided with rent free house
owned by the Mill, the fair rent of which
is 44,000 per annum. He 1is getting

Conveyance Allowance of ¥ 600 per month
for private purpose, Medical Allowance of
¥ 400 per month and Servant Allowance of

¥ 400 per month.

He received ¥ 1,20,000 for encashment of
leave on Ist September, 2018 being 10
months leave not availed of. As per the
rules of the Company Mr. Anil was entitled
to 30 days leave for every year of service.
He had been provided with the facility of a

DRG_146 (12) (Turn Over)



(6)

Gardener and a Cook, who are each paid
¥ 150 per month by the employer. He is
also provided with a small car by the
employer for official and private use. Two
children of Mr. Anil are studying in the
institution run by the employer for which
no fees are paid. Expenditure per student

per month is ¥ 600.

Compute Mr. Anil’s taxable salary for the
Assessment  Year 2019-20 assuming that
salary is done on the first day of the next

month.

3744l / OR

‘giftfer g’ w1 gl ST qer weeH
Tmfa &t g fuife & & fau aftes
Td H ¥ et 9 arel W@igd sl
1 FUH RIS

Define ‘annual value’ and state the deductions
that are allowed from the annual value in
computing the income from house property.

TS / Unit-111

3. MUR ki 3™ HI AT &EH T STIR
sifufram, 1961 & o TRd: wlHd
Hffadl hl HHART |

DRG_146 (12) (Continued)



Explain

clearly

the

(7)

deductions

that are

expressly allowed in computing the income
from the business under the Income Tax Act,

1961.
37947 / OR
() o TIAE = =6 2018-19 # wwafa=l
w1 faspt =1 = faeror fean .
ST e e
fasha geg | ¥ 7,00,000( % 18,24,000 | T 5,00,000
CERRCIECE] N ¥ 24,000 =
I i AN | T 1,29,000| ¥ 2,26,000| ¥ 1,48,000
it 1 @ | 2007-08 | 2004-05 | 2009-10

394 1.3.2009 & TH HHM T 15,00,000
H TS W AT IS A HY T
SifST Afg 2004-05, 2007-08, 2009-10
qeT 2018-19 1 N Thifd H=ehich
113, 129, 148 AT 280 T |

ShHRI:

Mr.

Hanuman Submits

the following

particulars about the sale of assets during
the year 2018-19:

DRG_146 (12)
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(8)

Jewellery

Plot Gold

Sales price

Expenses on sale Nil
Cost of acquisition | ¥ 1,29,000

Year of acquisition

¥ 7,00,000|% 18,24,000 (¥ 5,00,000

724,000 Nil
¥2,26,000 [ ¥ 1,48,000
2007-08 2004-05 2009-10

He has purchased a house for ¥ 15,00,000
on 1.3.2019. Calculate the amount of
taxable capital gain if Cost Inflation
Index (CII) for 2004-05, 2007-08, 2009-
10 and 2018-19 are 113, 129, 148 and
280 respectively.

(b) T el 9§ ‘e WAl | e W
TOTHT Tﬁﬁl‘Q:
(/) Tl ¥ 730,000 STER H el
(i) IS 9 ¥ ¥ 1,00,000 IR H et |
(i) 94 T9a® W ¥ 2,40,000 ITER H

et |

(iv) YRG H A’ 9RdE ¥ ¥ 80,000

IR H e

(v) 3T T 9 728,000 SWER H et |
(vi)y A1 ¥ ¥ 1,00,000 ® TR IWR H

e

DRG_146 (12)
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(9)

Calculate ‘income from other sources’
from the information given below :

(/) Received ¥ 30,000 as a gift from his
friends.

(if) Received ¥ 1,00,000 as a gift from
his elder brother.

(iii) Received T 2,40,000 as a gift on his
marriage.

(iv) Received ¥ 80,000 as a gift from his
NRI friend.

(v) Gift of ¥ 28,000 received from his
another friend.

(vi) Gift of a necklace worth ¥ 1,00,000
from his mother.

gh1s / Unit-IV
4. (q) TE I AW o SH A1 37! I(d b
YEYMl . THSEY |

Explain the provisions regarding carry-
forward and set-off of losses.

() T§ IR fou 7w gHl W fafey A
R 50% I TRd § |

DRG_146 (12) (Turn Over)



(10)

Write four such donations for which 50%
deduction are allowed.

374l / OR

foiig a9 2018-19 &1 4 TIHATA &t A
qo1 3= faeno = ©

z
() I H AT I 3,50,000
(i) TR St oy 12,000
(iii) SrefepTe gSt oy 40,000
(iv) @Efy §E W dw § S 10,000
(v) @ 9 " (FHhd) 25,000
(vi)y Tvea sufga st fafec

™ Y 15,000
(vii) T &=q 99 VI Fr™

T faf@m 10,000
(viii) =0 T A = &l

I% T <M 25,000

(ix) WESHS Fifasve HUE
Y 3fyeH 15,000

F-fERo 96 2019-20 & fau Fa sm
TYT SIS ! AT HiTIC |
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Following are the income and other
particulars of Shri  Shyamlal for the
Financial Year 2018-19:

?

(/i) Taxable income from Salary 3,50,000
(if)  Short-term Capital Gains 12,000
(iiif) Long-term Capital Gains 40,000
(iv) Bank interest on time deposits 10,000
(v) Lottery income (Gross) 25,000

(vi) Expenditure on medical
treatment of a disabled
dependent 15,000

(vii) Investment in National Savings
Certificate (VIII issue) 10,000

(viii) Donation to Indira Gandhi
Memorial Trust by Cheque 25,000

(ix) Contribution to Public
Provident Fund 15,000

Compute the total income and income-tax for
the Assessment Year 2019-20

T&1e / Unit-V

5. TTRA T dele @ % HwWeA den
ST hT GO hiTSIT |
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(12)

Describe how the Income Tax Appellate
Tribunal 1is constituted and discuss its
functions.

3744l / OR

TR e faum o fea-foea gifemfat
&1 o9 fwan T ® dun 394 | e ¥ 2

What are the various authorities envisaged in
the Indian Income Tax law and what are their
functions ?

DRG_146 (12) 1,360



ED-104

M.Com. 1st Semester
Examination, March-April 2021

Paper - IV

Statistical Analysis

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16

A 9t Tl F S AT w gl F s
hE

Note : Answer all questions. All questions carry equal
marks.

T&e / Unit-1

1. I8 Wiferh! &1 g1 ¥, WHR, AR Al
SEM ® wE o guen v el ®§ W
difernt 1 el 9 s oTes! @ 9
q GASAR S Hehdl 81| YUK KA i YOI
AT SIS |
This is an age of statistics, there is no

problem in government, business or industry
which cannot be better tackled with the help

of statistics. Discuss the above statement fully.

374l / OR
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(2)

T wiRelt % fafa= o w=n € 2wk Wi
g 9HT Y fopd oTal 1 sAH W ?
fafi= 9oR &1 9RET & YR deT 394

SYAIATET SdET |

What are the different parts of a schedule ?
What points are to be considered while
preparing a schedule ? Explain different types
of schedule and their utilities.

1S / Unit-IT

2. WgHE qn fgdiae GHel 9§ AT A
afyyr § 2 fogdtas 9Hel & Hahfod o
= fafim dfaal =t =men wifee @
fgdiorer 9H&l &1 GAM A 999 W& oM
el I Saesy |

What do you mean by Primary and Secondary
data ? Explain the various methods of
collecting secondary data and discuss the
precautions to be taken while using secondary
data.

3744l / OR

Y YT FRITHTed & SEEE § E©A ael
forenferi ot omfefer QoM SR stemEm wwaedt
Al 1 AT H =BG 18 U Hl Th
JEE TR SIS |
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(3)

Draft a questionnaire containing 18 questions
for the study of economic conditions and
habits of students of your college hostel.

TR / Unit-I1I
3. T oiwel @ @t foada foumar i
I R

A ferd
5-9 1
10 — 14 3
15-19 8
20— 24 5
25— 29 4
30 — 34 2
35 -39 2

From the following data find Karl Pearson’s
coefficient of skewness :

Age Person

5-9
10-14
15-19
20-24
25-29

30-34
35 -39

1

NN B 00 W

374l / OR
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(4)

frfafad e e ffde e § =M w3
I 9 AfRdl ¥ Grfed 396 Aed &
AT el qAT 36 HITGF T & ©

Tar 99 | ™ (3 '000 H)
11 7
7 5
9 3
5 2
8 6
6 4
10 8

A & WA g W YATTHA THEO [
HINT | IFHT FIM A TC Th TH Al
& faw ST T AEed 99 W TS 3 el
T 3 YHR H HE 12 98 HH & d€ < |
A F YRAEE dad i HRIRET w2

Following data refer to years of service in a
factory of seven person in a specialized field
and to their monthly income :

Years of service | Income (in ¥ *000)
11 7
7 5
9 3
5 2
8 6
6 4
10 8

DRG_209 (8) (Continued)



(3)

Find the regression equation of income on
years of service. Using it what initial start
would you recommend for a person applying
for a job after having served in another
factory in a similar field for 12 years.

T3 / Unit-IV
4, O Ul W TH WY HeHT W1 S I
Elfl'rTrl'Q:
(¢) IR R THh AH & FIIehdl
(b) HH H HH dH IR TH M hl Iidehal

() ¥ ¥ &F IR UM W dH AW Hi
EUREXI

Seven dices are thrown simultaneously. Find :

(a) The probability of getting one four times

(b) The probability of getting one at least
three times

(c¢) Probability of getting three on four dices
at least

374l / OR
B: BEI SR UE BERN § ¥ UE Gl
gt forat wAfeat sARR S wedt € 2
(@) F9 F F0 o BH ®
(b) ®H § ®H I BEMCE ©
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(6)

How many five members committee can be
formed from six male student and five female
students ? If committee consists of:

(a) at least two male students
(b) at least three female students

T&1e / Unit-V

5. o3 foohl & TH UYE + WA G IR 9R
IV T AR YAF R AW ol Sl
& &1 foan & g gikeny = arferent
¥ feu o 1 sief @t mem den e
I qAT TH ATAA 1 TIAM HAd BT
g SAgfaai aRwifa wifse afe fgug

fe @ g ©
I H GEn | dE SE s wen

0 4
1 12

76

104

118

112

64

20

0o N oo v A WN
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(7)

A set of eight coins is tossed five hundred
twelve times and the number of heads
appearing in each toss is recorded. The results
obtained are given in the following table.
Estimate the mean number of heads and then
calculate the expected frequencies using this
estimate if the binomial law holds :

No. of Heads No. of Tossess
0 4

12

76

104

118

112

64

20

00 N N N R WD~

374l / OR

T T SREH H HEW 1000 FHhRl
Ard TEE 67 T9 €1 THHRI AT fa=ed
5,5 39 €139 wR@H | 72 39 9 e
o gl il g s s ? femm ©

0 3R 18 & w9 &% = 0.34134 q

0 3R 158 & = &A% = 0.43319
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(8)

The mean height of the 1000 workers in a
Steel Plant 1s 67 inch with a standard
deviation of 8, 5 inch. How many workers
are expected to be above 72 inch in that
plant ?

Given the area under one side of the normal
corve

for 19 is 0.34134 and
for 1.59 is 0.43319.

DRG_209 (8) 1,440



ED-105

M.Com. Ist Semester
Examination, March-April 2021

Paper - V

Corporate Legal Framework

Time : Three Hours] [Maximum Marks : 80
de gt gl & SW AW wf oyl Fosw
peic i
Note : Answer all questions. All questions carry equal
marks.
TS / Unit-I

1. UYe orfHgH 1 §? SHHr faug wmEd
JAEY | Jg UNe w9 fRE yer fae
7?2
What is the Articles of Association ? Describe

its contents. How is it differ from
Memorandum of Association ?

374l / OR
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(2)

YfgaRor 1 €2 N UF Uledsh wEHET H
fau gfgerw w1 ffma oo stfed €2
giqeRel § 3H HUA o YRl i e
HIFSTT |

What is Prospectus? Is the issue of a

prospectus obligatory for a public company ?
Discuss the consequences of mis statement in
a prospectus.

1S / Unit-IT

2. oiftich GEMT GET T ¢ ? AW foRA TR
FET 1 TR TR ST © 2

What is Annual General Meeting ? What type
of functions are performed in Annual General

Meeting ?
34T / OR

AT & A i fafy= fafuai =1 faa=m
Hifew 3R Uz gaOa 1 wEfafy @
U HITIT |

Explain the various modes of winding-up of

a company and describe the procedure of
voluntary winding up.

DRG_249 (4) (Continued)



3.

(3)

TS / Unit-111

fafma wrem faore @ 1 s 2 fafu=
YR & fafma e fooel & SusmEe |

What do you mean by Negotiable
Instruments ? Explain the various types of
Negotiable Instruments.

374l / OR

gR& AR gufafy une fFY e © 2
Jofafy YR F SRR F1 BId © 2

What do you understand by Holder and
Holder in due course ? What are the rights
(privileges) of holder in due course ?

T&h1e / Unit-IV

fafma wrem fao@ ot g&qfa 9 o9eRt
afy™ § 2 M & faw ygfa § grafed
el w1 auie ST

What do you mean by Presentation of
Negotiable Instrument ? Discuss the rules

regarding presentation for payment.
37947/ OR

<k o (@i i fheH qAT TAF o dHITeh
JIE HT FUH HIGT |
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(4)

Describe the various kinds of crossing of
cheques and legal effects of each.

313 / Unit-V
5. wiafd IR T T2 yaqfd SR % &
wd fafmam Hifa = TwsmET)

What is security market? Explain the
functions and investment policy of security
market.

374l / OR

‘S W F A 7?2 ST SR % frEe
Td TRy YSt aeR § ‘HeE @t gfe @6
U HIFT |

What is meant by ‘SEBI’ ? Discuss its role in

regulating and developing healthy capital
market.

DRG 249 (4) 1,380



